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The Gimli Glider
The Gimli Glider is the nickname of an Air Canada aircraft that was involved in a 
notable aviation incident in July 1983. On 23 July, Air Canada Flight 143, a Boeing 
767­233 jet, ran out of fuel at an altitude of 41,000 feet (12,500 m) ASL, about 
halfway through its flight from Montreal to Edmonton via Ottawa. The crew was able 
to glide the aircraft safely to an emergency landing at Gimli Industrial Park Airport, a 
former Royal Canadian Air Force base in Gimli, Manitoba.[1] The subsequent 
investigation revealed company failures and a chain of human errors that combined to 
defeat built­in safeguards. In addition, fuel loading was miscalculated due to a 
misunderstanding of the recently adopted metric system, which replaced the imperial 
system.

Mayday Episode: Gimli Glider

http://www.cbc.ca/archives/categories/science-technology/measurement/for-good-measure-canada-converts-to-metric/gimli-glider-lands-without-fuel.html
http://www.youtube.com/watch?v=2j-b7xOoz0w








Page 31 #1­7.









All of the certain digits, plus one (an estimated number), of a 
measurement are considered to be significant digits.

You need to communicate how confident you are in your 
measurements in science.  There is an international agreement about 
the correct way to record measurements and this is using significant 
digits.  

There are certain rules that must be followed when calculating 
significant digits.  



Rules for Identifying/Counting Significant Digits

1. Digits from 1­9 are always significant/counted.  
i.e. 475 ( 3 significant digits)
       34.5 ( 3 significant digits)

2. Any Zeros between two other significant digits are 
significant/counted.

i.e. 7005 ( 4 significant digits)
       307   (3 significant digits)

3. Leading zeros are not significant/counted
i.e. 0.0045 ( 2 significant digits)
      0.03 m  ( 1 significant digits)

4. Trailing zeros are only significant (counted) if there is 
a decimal place in the number

i.e. 4560 (3 significant digits)
       4560.00 ( 6 significant digits)

note: counted or defined values are considered to have an 
infinate number of significant figures
i.e. 25 students
       60 seconds/min



Lets Try a Few



Addition and Subtraction
When adding or subtracting, the answer has the same number of 
decimal places as the value with the fewest decimal places (because 
it is the least precise).

Try it: What is the total distance walked if Student A walked 
3.1km, Student B walked 2.45 km, and Student C walked
2.195 km?

i.e. if given 3 distances and asked to find the total distance
D1 = 106.7km       D 2= 14km D3= 0.59km

Dtotal     = D 1 + D2  + D 3
Dtotal       = 106.7km + 14km   + 0.59km
Dtotal   =  121.29km 

The correct way to record this distance would be 121 because the 
lowest number of decimal places is none.  



Multiplying and Dividing
Consider the area calculation for the 
rectangular field depicted to the right: 15.2 km

2.1 km
Remember that these side lengths are 
measurements so the last digit to the right 
is an estimation (it could be 0 or 2 etc.).

When an estimated digit multiplies (or divides) another digit 
that result is then an estimate. Let us calculate the area of 
that rectangle the old fashioned way ­ by hand:

highlight or circle the estimated digits as 
you work through the problem

15.2
x 2.1



Multiplying and Dividing
When multiplying or dividing, the answer has as many significant
figures/digits as the measurement with the fewest significant figures.

Try it: What is the area of a rectangle with a length of 5.0 cm 
and a width of 7.55 cm?

A = l x w

i.e. given a base = 3.2cm
                   height = 10.1 cm 

Area = base x height
Area =  3.2cm x 10.1 cm
Area = 32.32 cm

The correct way to write this would be 32 cm because 2 
significant figures is the lowest number
 



a) 3427 
b) 0.00456 
c) 123 453 
d) 172 

e) 0.000984 
f) 0.502 
g) 3100.0 x 1013

a) 17.34  b) 9.80 
      4.900  ­ 4.762 
+  23.1 

c) 3.9 x 6.05 x 420  d) 14.1 / 5 = 

Determine the correct number of significant figures in each:

Solve.  Use the correct number of significant figures for each 
answer:

Warm­up
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